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33 AL AfrwIa Fresiar se

Class -V

English :

1. Reading comprehension : unseen

2. Grammar : proper noun, gender, common gender, pronoun, numbers,
adjectives, regular and irregular verbs, continuous forms of verbs,
advers.

sifee g

AT G W Be, W @0 ofF, Afaardt «iifea A =i, e Ge
12, IRy 2 4fE, Afem F€ A i, o e e e 3l w3
AN I IR, A @ wid, Wies @i, I Fe @o @i, wig afe
g, Fe e <R, My ot I3 WE, Feo! W TN @R, & @ oo R,
o faca cafe, @=ot @f« et @i, 9fore gy vifer, e 4f« sret ae sf7

UEISRE:

o IAfACAT*IT Tovie; Giqeee

o AfITAT*F THAMIE; TC €D T
o *idq

® LGl € qrFTFE

o IIA[THA SHT*|

o S TIF A fewel
o Gif9 @ 7R
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Class - VI

English :
1. Reading comprehension : unseen

2. Grammar : proper noun, gender, common gender, pronoun, humbers,
adjectives, regular and irregular verbs, continuous forms of verbs,

advers.

ff9e g

S 2SI FfE, T2 A Gl efF, Fie g szre ome 34,
TS (A F© S T4 AN o Fare <17, WY @, 72E I8 7127
feoiq =fa, @bl ofb1 (4e) el e Sies ot @ta @2, GHwR o o@
e M4, e FeAea awe 79 a8 M2, (ree A cdo afe, «is
4t f2oe 34, Torrre fafey wiex e Mz, wrem sme faorme <fq, av= fog wife
| Y9 F S (A0, ANCI Ao 9f%a 901 S0 S<FT @i |

I ¢

® J[qh2

o (STs “ifara= (W6, o, &iataba)
o 2{FGIRTHT A4 faffe

o “Afara™ ¢ 7w

o sifara* @ TeWw

o ST @ qaef

o sifara=, 4fE ¢ *ifE 7w
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Class - VI

English :
1. Reading CGI’T‘IpI‘EhEHSiUn . unseen

2. Grammar : abstract noun, coollective noun, auxiliary verb, articles,

adverbs, prefix-suffix.

s g

& NI FATAGA, IS 8 NG WCHY AR 12, A4 770w I
TS S, GFHC AFG @ A7, e Aieifed 5o al*g e, soIg
oif ]l @ Syiexite ©Yied T et € v, wifse Saiests 9 ey ¢ weifis
ol fAcw el ¢ O, (WGF oafS, WoFdl, WS S ALy, FIW 9998 AT
frans wyifafes giaen, feafd sedm@ 4 51, ¢ 7171, ¢, © e ¢ 9654, @4,
@i, a4 ¢ o feaas faes qae, ovaws ¢ sfaenn fadfz, frafas s
€ Jedfl (@41 IiFe g, wyifafe qtem a1 Toawad e fafeg snfafes
qraefl, 73 |

Afdca™ ¢
o ST € RGNS /HF FSae
® SATAA BIRAITHE To+1 7T
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3@ g *f& eefss g
o S7E 8 PAE s 3 ¢ afs, wraa =94
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Class - VI

English :
1. Reading comprehension : unseen
2. Grammar : apostrophe, possessive adjective, possessive pronoun,

degree, participle, adjective, verb, nominal compound.

e 8

o4 AATIA AN, TGS, AAGATS, 24sf FAeAqa @, [, edf @
TI7Y, 5L IRAeN, erfafes e, F=mer s Fve @n oE, fbes
S, HOTSIA G, S WA, Sieea (9, Jewiifdfes saea, e
TR 8 (gacad g, fagrem o, 1w ¢ yayg, fa-ug @14, SrerEa @
frwTaa ovawa, offes T |
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Class - IX

English :
1. Reading comprehension : unseen

2. Grammar : modals, degree, tense, infinitive, prefix-suffix, phrase,
clause, narration

s 8
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English

Q.1 Read the passage carefully and answer the following guestions: -

After breakfast, the children played in the courtyard. Time passed quickly. It was
soon twelve in the afternoon. Grandma was cooking lunch. Gouri told her that Gogol
did not like Bengali food. Grandma smiled. She took all of them into the kitchen.

Gogol could see now the actual process of Bengali cooking. He felt a new interest in
Bengali food. He ate a hearty lunch of rice and rohu fish curry. Then there were
rosogollas and sweet curd.

Q.1. Chose the correct answer of following questions:
Ex1=5

1) What did the children do after breakfast ?
a) Swim in the pool
b) Eating lunch
c) Played in the courtyard
d) Cooking in the Kitchen.

febchehddapdhddchdadchddapdhddahdddchdhdpchddapchddddchdidchdaddhddapdddahdddchdda

i) Who was cooking lunch ?
a) Gogol
b) Grandma
c) Gouri
d) Rohit.

iif) Who did not like bengali food ?
a) Gouri
b) Grandma
c) Children
d) Gogol.

iv) What was the time of their lunch ?
a) Eleven
b) Ten
c) Twelve
d) Nine.
20
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v) What curry did gogol eat in his lunch ?
a) Katla curry
b) Rohu curry
c¢) Mutton curry
d) Egg curry.

Q.2. Chose the correct preposition: --

They are going School.

Q.3. Find out the pronouns from the following sentence: -

i) Close your books
a) Close
b) books
c) your
d) None of the above.

ii) They are playing in the ground
a) They
b) playing
c) ground
d) are

Q.4. Chose the appropriate article: -

i) | have umbrella.
a) the
b) an
c)a
d) none

i) They are going to Himalayas.
a)a
b) an
c) the
d) none
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English

Q.1 Read the passage carefully and answer the following questions: -

Games are a vital part of life. They help in keeping the machine of life in good order.
They keep us healthy. They give entertainment to our weary minds. They remove
the monotony of life. Games give us not only physical exercise, but mental training
also. They train both our body and mind. Physically, we become healthy; mentally
we become disciplined. We become healthy both in our body and mind. A player
has to follow the rules of the game. In the playground, he acts like a disciplined
soldier. The sense of discipline becomes a part of his character. Games develop
sportsmanship. It means that a player has no bitterness in his heart. He plays the
game only for the joy of it. He does not gloat over his victory; nor does he feel
sorrow over his defeat. He fights with the spirit of healthy competition. An opponent
Is not an enemy to him. However, excess of anything is bad. A student should not
make games the chief interest of his life. His studies should not suffer due to his
interest in games. He should play the game to keep good health and thereby to
work harder at his books.

A. Answer the following questions briefly: 3x1=3
i) Games are a necessary part of life. How?
i) How do games benefit us both physically and mentally?
i) What does sportsmanship mean?

2x1=2
B. Choose the correct answers:

i) Games remove the of life.
(A) dullness
(B) zeal
(C) colour
(D) difficulties.
i) Games help us in becoming mentally.
(A)discipline
(B) health
(C) disciplined
(D) healthy.
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C. Fill in the blanks with WH words - 1x1=1
i) will you go in the summer vacation? We shall go to Darjeeling in the
summer vacation.

D. Separate the subject & predicate in the following sentence - 1x1=1
i) The moon revolves round the earth.

E. Write the opposite gender for the following words- 12x2=1

i) King- ii) Drone —
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English

Q.1 Read the passage carefully and answer the following questions: -

The first man to orbit the Earth was Yuri Gagarin, a Russian cosmonaut. Gagarin
was born on March 9, 1934, in a small village in Russia. He became interested in
space travel at an early age and dreamed of becoming an astronaut. In 1960,
Gagarin was selected to join the Soviet space program.On April 12, 1961, Gagarin
became the first man to orbit the Earth in his spacecraft Vostok 1. He completes one
orbit in just one and a half hours. Gagarin's historic flight made him an international
celebrity and a hero in the Soviet Union. He has received numerous awards and
honours for his achievements. Gagarin died in a plane crash in 1968 at the age of
34,

'1) Answer the following questions - 5x1=5

1) Who was the first person to orbit the Earth?

HEOBREHHR DD EEHE BB EAH AR A EIH AR EH EAEH EACH AR AR EDEREHER

i) When was Yuri Gagarin born?

iii) What was the name of the spacecraft that Gagarin used for his orbit?

iv) How long did Gagarin's orbit last?

v) When did Gagarin die?

2) Underline the Abstract Nouns:- 2x =1

i) This drip will be the death of me.
i) Everyone marvelled at his bravery.

3) Fill in the blanks with collective nouns - 2x =1
i) | bought a of grapes from the market.
ii) The IS Very noisy.
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4) Fill in the blanks with the correct forms of the given verbs in the

brackets- 2x=1
i) Usually, Pulak his work well. (do)

i) He working. (be)

5) Fill in the blanks with appropriate articles - 2x=1
i)There is university in our town.ii) My father is

honourable man.

6) Fill in the blanks with suitable adverbs - 2x=1

i) | cannot find my pet dog

i) The soldiers fought

W
")
G

Q. 1. NTEA W F S FTT (S :- 5x1=5

1) 40 + 5x4 QF |IF T -
i) 40
ii) 32
iii) 36
iv) 2
2) 7 TR wfds seanfd 3+ -
i) 7
ii) 07
iii) 0707020
iv) 7070700.
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Q.1 Read the passage carefully and answer the following questions: -

Florence Nightingale was born on May 12, 1820, in Florence, Italy. Her interest
in nursing was evident from childhood. She would then spend time taking care of
her injured dolls and animals as she gradually grew into a beautiful young woman
and married a wonderful young man to enjoy life.

But she remained unmarried and devoted her life to serving the poor and sick.
When the Crimean War broke out between England and Russia. She went to the
field with several nurses. There they ministered to sick and wounded soldiers.
Florence Nightingale worked there without rest and many a time with a candle in
her hand she ministered all night to the poor sick soldiers. Hence, she was known
everywhere as “The Lady with the Lamp”.

1. Answer the following questions - 5x1=5

a) When was Florence Nightingale born and where?

b) What was Florence Nightingale’s interest from childhood?

¢) Who did Florence Nightingale marry?

d) Where did Florence Nightingale go during the Crimean War?

e) Why was Florence Nightingale known as “The Lady with the Lamp™?

2. Put the apostrophe mark in proper place - 2x¥%=1
a) Rahims father is a well known person.
b) They like to read the childrens story.

3. Fill in the blanks with possessive pronoun and possessive adjective- 2x% =1
a) | gave him in the class because he didn't bring

4. Underline the participle adjective in the following sentences- 2x%=1

a) A rolling stone gathers no moss.
b) You should help a wounded man.
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5. Find the compound words from the followings- 2x %=1

a) A picture would have come from the frame-maker’'s and be standing in the dining-
room, waiting to be put up.
b) | shall want the step-ladder.

6. Choose the correct option of the given verb form - 2xXx%=1
a) | (have finished/finishes/finish) my task well before the scheduled time.
b) Mary Kom (win/have won/had won) a Bronze medal in the London Olympics.

RIGI)

Q. 1. #fo= Teal® @ e 3 - 5x1=5
1) 3 I € L 5 S A WNE ? -
i) 2 3 ii) 3 i) 1 AW iv) 1 I
2) (+4) - (-3) - @7 T T -
i) 1ii) -1 i) 7 iv) - 7
3) 9 : 15 SeTSHa AY SNF Zo -
)9 :1ii)18: 30 iii)1: 15 iv)3: 51
4) 25 5114 8% = F© B ? -
i) 14 i) 12 iii) 2 iv) 4
5) 1.69 - @ J573+1 2+ -
i) 13 i) 1.3 iii) 0.13 iv) 1303
Q. 2. fAtea emefera aa s Ted Wi ¢ - 5x1=5
i) x = 5T, x2 + 2x - 1 FALAM0F T F© 2
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v) 23 A1 41 € 3753 7 2
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Q.3 Atea wTafs sm s - 5x 2 =10

a) (TN ISHE ITA 12 I2 (SR I[AE IO IT7 42 291 10 I2F #iF
(STHTR ITH 8 (OINF I I 97 TFATS TS 3J?

b) Fr4=Ag ©IF Fifsrs @ % 496 | 57 Fifss 3250 Brast 496 Fa
SW O FITS AW TS ?

) it I2F Wi &1 120 B1=e11 IS @8 3367 Wiy 150 b1 3367 v
oIl IO @OGT ?

d) QFIB! BT 0.75 WL Fo17 3600 BIFT 3, 9% 9 IV BIR 0.15 W
] TG 5(J ?

e) k-p2 = ( 9+p) (9-p) T, k-9F 919 @9 F4|

dfqa@d [Tsi[

Q.1 wfd= Swaftrs At :- 8x1=8

1) Trepif AchifAbras Swora wef® e 5= -
) 100°C
i) 100°F
iii) 212°F
iv) 32°F
2) *[GIFEN GIRARGT ALFO 3 -
i) KCI
ii) NaCl
iii) AgCl
iv) CuCl
3) *I$A1 TSI A AT TS 5 -
i) ©1%
ii) q=
iii) |1
iv) Fryq
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Q.3 fAtea spywfea Staa wia:- 2x2=4
1) B9l @ SIoETag q4y N4y @

2) Ay Tgd f5aft Frer @4

98 QI ST At g

English

Q.1 Read the passage carefully and answer the following questions: -

There will hardly be anyone who does not know the name of the cryptocurrency.
During the last few years, cryptocurrency has become very popular all over the
world. Its fashion in India has also risen very fast.

It is nothing more than a digital currency that is based on Blockchain
technology. Some popular cryptocurrencies are Bitcoin, Binance coin, Ethereum,
XRP, etc.

The most important thing about this currency is that it is completely
decentralized, which means that there is no control of any country over it, that is
why many countries still consider it illegal, but recently India has made it legal.

It is such a currency that does not exist in physical form, but with the help of it
you can buy any product, and also invest and trade. When a transaction is made,
it is monitored through powerful computers, which is called mining
cryptocurrencies in another language.

1. Answer the following questions- 5x1=5

a) What is cryptocurrency?

b) Where can cryptocurrency be used?

¢) What is Cryptocurrency mining?

d) Write a synonym for the word ‘Decentralized’'.

e) What is the meaning of ‘cryptocurrency is decentralized'?
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2. Fill in the blanks with the correct verb forms from those given in brackets-2 x %=1

a) The passengers of the train fast when the accident occurred. (slept, had
been sleeping, sleep)
b) He here for the last two years. (worked, is working, has been working)

3. Underline the words that act like verbs and take objects - 2x%=1

a) He likes to play badminton.
b) Her greatest pleasure is to dance.

4. Underline the group of words that do the work of an adjective- 2x%=1

a) He was a man full of hope.
b) This is a table made of wood.

5. Identify the clause in the following sentences - 2x%=1

a) Although he was unwell, he went out.
b) Rani said that he had met my brother.

BB BEH DR EEHE BB EAH BN R A EIH AR EH EAEH EACH AR A EHEDERE

6. Change the mode of the narration- 2x%=1

a) My mother said to me, “Please wait for me here.”
b) The old man said to the little girl, “May God Bless you!”
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3. NfFe exafa Tag Ale ¢ 2x2=4
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b) Na, Mg, Al clisiefets wad FTer fRa AEe |

SUB - ENGLISH
Grammar & Vocabulary :
1. Fill in the blanks with correct form of verbs given in the brackets : 1X2=2
Last summer, it (decided / being decided / was decided) that, this \
summer no picnic (takes place / will take place / would take place).
2. Do as directed : 1X5=5

a) A man is doing research in the foreign University. He has a brother.

(Join into a complex sentence)
b) Our president died yesterday. (Replace the underlined word with a phrasal verb)
c) Sourav blamed his luck for his troubles. (Use the noon form of ‘blame’)
d) Sanjay said to me, "Do you know Mr. Mondal 7" (Change the mode of narration)
e) Who can accept the challenge ? (Change the voice)
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